[ Efficien

cy vs vertpos |

~ 0.5

20.45
2

2 04
(&)

$0.35
0.3
0.25

ICI

effi

..............................

..............................

.............................

o
N
T T T T[T T T [T [T [ IO T[T T [ T[T 17T T

0.95

102

Efficiend

10

1

[—— DQM _XIMInus_ofginar
—e— DOM_XiMinus_newbranch

—— DQM_XiMinus_original_pLess
—— DOM_XiMinus_newbranch_pLess

10 0?
TP vertr (cr%)

N 0.2
00.18F
o E
>0.16
>

8 o
3014
(&) L
£0.12
[J] r
0.1
0.08F
0.06F
0.04F
0.02F

..................

..................

..................

..........

................

................

................

Ve

Ratio
N
T

0.95!

[ Efficiency vs. sim PV z |

0

10 20 30
TP vert z (cm)

N 0.2
>
8018
£
50.16
20.14
oy
20.12
0.1
0.08
0.06
0.04

0.02

e

effic

A I A
e
O

N P R

-

.........

.
E .
b

iy
TTTT T T

I
o

A |
10 15 20

PV z (cm)




	Contents
	Page 1


